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QUESTION 1

Offline support requires which two configurations? (Choose two.)
A. Access groups set up to allow offline access to users.

B. Appropriate case types configured for offline processing.

C. An authorization activity to manage offline permissions.

D. A set of privileges to run sections in an offline environment.
Correct Answer: AB

Reference: https://community.pega.com/knowledgebase/articles/configuring-offline-capability-mobile-application

QUESTION 2

You are updating a system of record using a SOAP connector. If the system of record is unavailable, you want to retry
after an hour. If it is still unavailable after an hour, a notification should be sent to a system administrator. How do you
implement this requirement?

A. Customize the standard pxErrorHandlingTemplate data transform.

B. Use a transition condition in the activity step invoking the connector.

C. Implement the logic in the connector\\'s error handler flow.

D. Implement the logic in the data page\\'s response data transform.

Correct Answer: C

QUESTION 3

You want to evaluate cases as potential duplicates when the existing cases and the current case have the same create
operator. How would you ensure that only cases with the same create operator are evaluated?

A. Add a must match condition where the create operator in an existing case is the same as in the current case

B. Add a weighted condition using the create operator value in both condition fields, an equals operation, and weight of
0.

C. Add a weighted condition using the create operator value, an equals operator, and a weight of 100.
D. Add a must match condition using the create operator value and apply a weight of 100.

Correct Answer: A

QUESTION 4
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You have configured an agent to automatically send correspondence. The agent runs in standard mode using AQM. As
of the last agent run, entries failed to commit and the correspondence was not sent.

Which two approaches could you take to troubleshoot the issue? (Choose Two)
A. Open the Requestor Management screen in SMA, select the requestor with a waiting message, and run the Tracer.

B. Open the Requestor Management screen in SMA, select the requestor with a waiting message, and display the error
message and stack trace information.

C. Open the Broken Process queue, select an item, and run the Tracer.
D. Open the Broken Process queue, select the entry, and view the error message and stack trace information.

Correct Answer: AD

QUESTION 5

A new system architect asks you how user access to attachments is managed. In your response, you indicate there are
two ways to configure attachment access.

Which statement is the best next sentence of your response?

A. User access can be configured by when rule or case type.

B. User access can be configured by privilege and/or when rule.

C. User access can be configured by attachment class.

D. User access can be configured by circumstancing the attachment category.

Correct Answer: B

PEGAPCSSA80V1 2019 PEGAPCSSA80V1 2019 PEGAPCSSA80V1 2019
Practice Test Study Guide Exam Questions

PEGAPCSSA80V1 2019 Practice Test | PEGAPCSSA80V1_ 2019 Study Guide | PEGAPCSSA80V1 2018 Egam
Questions


https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html
http://www.tcpdf.org
https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html
https://www.pass4itsure.com/pegapcssa80v1_2019.html

